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init()

void init(int R, int C);

procedure init(R, C : LongInt);

update() calculate()

R

C

update()

void update(int P, int Q, long long K);

procedure update(P, Q : LongInt; K : Int64);

P ≤ ≤

Q ≤ ≤

K ≤ ≤



calculate()

long long calculate(int P, int Q, int U, int V);

function calculate(P, Q, U, V : LongInt) : Int64;

0
0

P ≤ ≤

Q ≤ ≤

U ≤ ≤

V ≤ ≤



init(2,  3)
update(0,  0,  20)
update(0,  2,  15)
update(1,  1,  12)
calculate(0,  0,  0,  2) 5
calculate(0,  0,  1,  1) 4
update(0,  1,  6)
update(1,  1,  14)
calculate(0,  0,  0,  2) 1
calculate(0,  0,  1,  1) 2

≤ ≤

≤ ≤



game.in

R  C  N

update(P,  Q,  K) 1  P  Q  K

calculate(P,  Q,  U,  V) 2  P  Q  U  V

2 3 9
1 0 0 20
1 0 2 15
1 1 1 12
2 0 0 0 2
2 0 0 1 1
1 0 1 6
1 1 1 14
2 0 0 0 2
2 0 0 1 1

#include  "game.h"

unit  Game 0
1

long  
long Int64


